EAGRAROBREERT — 2 N— ABISH —F 2020182680 (H) 1E4LU9H

Pl o2 3/ REF BT B ‘ x4zl /J\Eﬁ‘ (EsEl - | 4 (&) 16000 FHE
[A&4£] 1 7% :5,100,000 2 & :2,000,000 @ 33 :1,300,000 @ 4 3 :770,000 @ 5 % :510,000 A
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
. FFRI&AER :56. 2-2-2-2 . . NI ()
17/ 704Ky 7 [B] "8 e 1% 02|83 8 ?2;‘ (B) EEHT7— L
LGy —3IYF7> B:71IRER [P e ]
o= 4 3 | ENEAE 1:56.6 1-1-1-1 | 40.3 | 84.3 | 6 508 | EFEMH (i)
215|6| IRER=—ANZ=T 56.0 (2 E) (-2) E(’ﬁ) EvJiLy RTr—54
LTANWNGTTFY— B:LIZ&R BEH Fi
N . HpE : ~7-6- ERA (ER)
355 swavazy b [B) i 3 o 1(56t>7 6-7-6-5 |39.5| 83.3 | 7 (4_722) Hﬁ}?ﬂ(
SE- T % DI 35 2 & /| 2 HE77—L4
S R 4t 3 | AEHARA 1:57.0 6-5-6-8 |39.9| 80.9 | 9 444 | BRIERAZ ()
4 4| 7T = 56.0 @ © |FATLAETTT (@)
L:8— RILRIIL B:YFLIL—F 1> RS
= = 3 | HOHE 1:57.4 9-8-9-5 |40.1| 77.7 | 5 494 | /NE—B (EH)
5 2771 /R 5.0 (2 1/2) (-5) |LRE
R:b5>tE> K BT 4L aF JE—
5 - # 3 | KRELER 1:58.1 3-3-3-3 | 41.4| 73.0 | 1 496 | =& (E#)
[ 6 IR UAIERIZ 56.0 @) 4o | B #5TLy K5I 54T
RR=—HNE BEHUTA TR b h IV
3 | AWEIGH 1:58.1 5-5-4-3 |41.1| 72.8 | 3 480 | ML= (FH)
7lglio| LETZ1FUZ B "3 i) o) | 0 LE
LHTIRIAY B:77dU—% RIS
> Ry [S 4 3 | WEEE 1:58.2 8-8-6-8 |41.0| 71.9 | 4 518 | ARILHESE ()
glz7zlg| b—E>UIF YR 56.0 (3/4) o | Bl
L:ib—t>TI/4 0 Bib—trXyY BHRSHE IXTF177—L4
R g g 4 3 | 2l 2:00.4 10-10-10-10| 42.5 | 57.1 | 10 | 494 |®=A&HE (EiH)
9!7l10|Lb—E>Z7TLTK 56.0 (24 4%) (+2) |WLFIR
L:Avazgr—X BihHIX M YNY YA FHS
S 5% # 3 | RLR%A 2:00.6 11-10-10-10| 42.7 | 55.9 | 11 | 438 |/v&WLE (&)
101811 777 bLTv— 56.0 (" 1/4) (1) | EAEE
R:A—K7I74x B:Ly RO¥FUF BEET7—L
- o it 3 | C. x—=Jb 2:01.3 3-3-4-7 |44.4| 53.7 | 2 488 | R&EE (EH)
EH 3|77/ FVA ' %.0 ) o | ) HEL-25-2
LIE77x47 B:LT1YEL HET7—L4L
- 8 3 | HEER — - — — — 462 | BEKER (E@)
x| 11| Y—TRAA=ZX # 56.0 ) (o) | B
v TRy b BRI =LA F I BIZ7— L4
@ 71 L
) 53.3-40.3
NA>Z24 L | 12.5-11.5-13.0-13.4-12.9-13.0-13.2-13.2-13.9
@ I —F—@EBIERL
13—7F#— |6,7(3,8)12-(4,5)9-2=10,11 1
2= = 6,7(3,8) (4,12)5(2,9)=(11,10) 1
30—4— 6,7,8(3,12) (4,5,9)2-(11,10) 1
40—+ — 6,7-(12,8) (2,5)3(4,9)-(11,10) 1
[ N3
B O 7 1,830 714K 6-7 1,170 7 E 5-6 670M JEHE 5-6-7 11,130H
8 B 7 470M 5-7 1,700H B = 6-7 4,910 @ 7-6-5 85,850
6 250/ 5-6 1,160 B H 7-6 11,600M
5 340H

ABRICOVTHRTEEERROODE, THEB LS,




